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1.

. traffic accident/ car accident 2. frightened

. teenagers, interest 4. work together

. importance/ stress 6. vacation, finishing

. change, because of 8. Watching, damage / harm

. Going on field trips is an important part of education for students. Not everything that a student

needs to learn can be taught in the classroom. Field trips give students the chance to see how
the subjects they learn about in school are applied in the real world. For example, a student can
study the environment in school, but actually taking a trip to the mountains to study the plants
and wildlife there will give that student a much better understand of what he or she has
learned.

Field trips are an essential element of education for students. Not everything that a student
needs to learn can be taught in the classroom. Field trips allow students to observe how the
subjects they learn about in school are applied in the real world. For instance, a student can
study the environment in school, but actually visiting the mountains to study the plants and
animals there will help that student understand that which he or she has learned about in
school.
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= The invention of electronic entertainment has changed the sleeping habits of people.
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=» The discovery of coffee, tobacco, and sugar helped drive European colonialism.
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Main Idea : Advtg of team sports
1. Stay healthy & fit

- during games - run a lot

- team practice

- during off-season - training program
2. Encourage good grades

- school rule : grades low — cannot play
3. Relieve stress

- stress |

- lead happier & relaxed lives

Note-taking for Lecture

(29 XIZ]

OK, today we are going to talk about why it is not always a good idea for teenagers to play
team sports for their school. Uh ... first, you have probably heard that playing sports helps teens
stay healthy. Actually, in many cases, playing sports can be bad for a teen’s health. Many sports
include weight lifting in their training programs. Doctors have shown that teens should not lift
weights because it can damage their bones, which are still growing.

For another thing, sports often lower the academic performance of students. It is true that
most school districts have minimum grade levels that a student must meet in order to play
sports, but those grade levels are very low. In most areas, students only have to keep a C
average to play sports. So, teen athletes often only work hard enough to get Cs and then spend
the rest of their time practicing for their sport instead of studying. A C average isn’t exactly what
you would call good academic performance, is it?

Finally, team sports often make the lives of student athletes more stressful. First of all, they
are much busier than other students, because they have to study and go to practice. In addition,
student athletes often feel a lot of pressure from their parents and coaches to do well in their
sport. So, in general, student athletes often lead more stressful lives than other students.

[Zel xI2 84 ]
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Main Idea : Cast doubt on team sports
1. Bad for health

e.g. weight lifting — damage growing bones
2. Lower academic performance

- low min. grade levels
3. Add more stress

- busier — study + practice

- pressure — parents + coaches

|dea Combining

Main Topic : Team sports for teenagers
Contradiction Points

Reading Lecture
Team sports make teenagers Point 1 Playing sports can be bad for a
healthy and fit. teenager’s health.
Team sports encourage better Point 2 Playing sports lowers academic
achievement in their grades. performance.
Playing sports can release stress. Point 3 Team sports can add more stress to

student athletes’ lives.

Making an Outline

Introduction
Main Topic Sentence : The professor mentions three about disadvantages of school sports.
Main idea in Lecture : School sports are not good for students.
Main idea in Reading : School sports are good for students.

Point 1
Topic Sentence : Playing sports can be bad for a student’s health.
Point & Detail in Lecture : Weight lifting can damage the bones.
Contradiction in Reading : Playing sports is good for a student’s health.

Point 2
Topic Sentence : Playing sports does not encourage students to get good grades.
Point & Detail in Lecture : Students only study to get a C average to play sports.
Contradiction in Reading : Students have to get good grades to play team sports.

Point 3
Topic Sentence : Playing sports makes students’ lives more stressful.
Point & Detail in Lecture : Students who play sports are busy and feel pressure from parents and
coaches.
Contradiction in Reading : Playing sports helps students relieve their stress.

A6 www.linguaforum.com




Writing a Response
[ Sample Response ]

The professor says that school sports are not really good for students and gives three reasons
why this is true. These reasons directly contradict the reading, which says that school sports are
good for students.

First, the professor says that playing sports can be bad for a student’s health. This is because
many sports include weight lifting in their training, and weight lifting can damage the bones of
teenagers. These claims call the reading, which says that playing school sports is good for a
student’s health, into question.

Second, the reading says that students have to get good grades to play sports. The professor,
however, says that students only have to have a C average to play sports. As a result, most
students only study enough to get a C average and then spend the rest of their time practicing for
their sport. So, actually playing school sports does not encourage students to get good grades.

Finally, the professor says that playing sports makes students’ lives more stressful because
they are busier. She also says that they feel pressure from their coaches and parents to win. This
directly contradicts the reading’s claim that playing sports helps students relieve stress.

[ Sample Response &M ]

e st 23 B0l AMZE SHESoIAl fUotAl ot ot of T2{gkk(ol thet M7HX] O] HIABH
0| 0|RS2 S 25 Eo| HS0iA RUsIty JH =off XIZS XX CZ BI8lGiTt
Mz nas 2FS ol A0 &9 o] sl=2g 4 o Yottt 2 258 7| S7t Sy =
0 A=l 0]Z0] MU HE &8AIZ 4 Q7] HR0lCt, olzist FEE2 stu 28 Holl &tdsk= 40| st
MEo| 7izo| ZCtn ot Saoff XI2of thell 222 AM7Isk= ZAolct
EMZE, SoliXIZ2 stMS0| 25 Eofl &oish| YeiMe £2 XIS Hhotof Siotn oitt, T2t ues 2
= Eof 07| flefMe Bt CsiMut 2om FErt Wttt 1 Ant (iR stMEE2 cafds g Me=0t
26t LIHA| AlZH2 28 &S ok=dl BHCh T2iM AX2 st 25 ol Foiots A2 shdsol 22 4
Mg Q== 2o dert
DR 2 mas sSHS0] 28 Hofl Zostd O sihx]7| 2o Ao O B2 AEHAE S=rtn STt
Ch O £6t stlS0| AX|et FE22E Z7(0IA 0[7{0F sitte SYde =itk Yttt ol 28 8ol Fofet
= 20| SHlo| AEZA 2515 E=Cin PE =olf X229 FHE AYXCR viEdict
P36
Confusing Words
1. adopt (v =510, adapt (v ol=axic) 2. admire (v. z25ic), admit (v o=
3. advise (v zu5ich), advice (. 1) 4. affect (v. ~of gizi2 07/}, effect (. z3), 1)
5. Almost (ad. ti5), MOSt (a. ti7i2]: most+(of)+=4-21A)) 6. assumes (v F5lch), consume (v. Assich)
7. bazaar (n. /1%, tixi3l), bizarre (a. 7[7f3 ol 8. capital (n 7= ), capitol (n. =3long)
9. sensor (. Zx7l), Censor’s (n. 2 ) 10. cite (v 2igsich), Site (n. &%, =2

Grammar for Writing
1.0
2.0
3. X (support that — support the view that)
4. X (remind that — remind herself that)
50
6.0
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7. X (inform that — inform you that)

8.0

9. X (suggests us to talk — suggests that we talk / suggests talking)
10. X (comments on — comments on the statement)

Get It Write

1. This directly contradicts the reading

2. These support the reading

. refutes the points made in the reading

. Despite what the reading claims

. The professor casts doubt on claims

. The professor, in contrast to the reading, says

. This proves the reading’s claim

. The professor points out that this scientist’s data are correct.

. The reading indicates that several people invented motion pictures around the same time.

10. According to the lecture, Emile Cohl was one of the first people to make animated cartoons.

11. The professor contradicts the reading by claiming that games provide adults with vicarious
satisfaction.

12. The teacher points out that high grades carry more tangible benefits.

13. The professor rejects the reading’s claim that we should keep television away from children.

14. The researcher is not convinced that traveling by train minimizes stress.
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Well, it is no secret that playing video games has become the major free time activity for many
children, and we constantly hear how bad that is for those children. In truth, however, playing
video games is not bad for children, and in some ways, is even helpful.

OK, first of all, many people are concerned that children who play video games will grow up
isolated and will never learn important social skills. If you take a look at most of the video games that
children play these days, they are Internet based games. Uh ... children actually have to interact with
a whole Internet based community when they play these games. So, in reality, video games do
provide a great deal of social interaction; it’s just over the Internet instead of face-to-face.

A8 www.linguaforum.com




Another common complaint is that video games are bad for the attention span. Again, if you
look at the kinds of video games that many children play these days, you'll see that this isn’t really
true. A lot of modern video games require a high degree of concentration over a long period of
time. In fact, it’s not uncommon to find a child highly focused on a video game for as much as 3
or 4 hours at a time.

Finally, there have been recent studies that have shown that playing video games actually
does help prepare children for later life. This is because it familiarizes them with the computer,
and nearly every job in the modern world uses a computer to some extent.
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Reading Lecture
Main Idea: Main Idea:
Disadvtg of video games Not bad for children
Point 1 Point 1
* Individual activity * Provide social interaction
- little time w/ friends — no interaction - Internet based games
- miss valuable lessons — interact w/ community
e.g. working in groups, respect people
Point 2 Point 2
* Not encourg. mental activity * Need to concentrt. over a long time
- no need to concentrt. hard or long time - 3-4hrs at a time

— bad for attention span & memory

Point 3 Point 3
* Not helpful to prepare adult life * Helpful preparation for later life
- no useful skills - familiarity w/ computer
e.g. traditional games — useful in jobs

: teamwork, problem solving skills
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[ Sample Response ]

The professor casts doubt on the reading by claiming that playing video games can actually be
good for children. According to the professor, playing video games helps students interact with
each other, helps them focus for longer periods, and helps them prepare for later life.

First, the reading claims that students spend less time socializing because of video games.
Yet, the professor points out that most of the games children play are online games. This means
that children actually do a lot of socializing while playing video games.

Second, the professor’s statement that many games require students to concentrate for long
periods of time refutes the points made in the reading. The professor says that children often
have to focus for 3 or 4 hours while they are playing a video game. This disproves the reading’s
claim that video games are bad for a child’s attention span.

Finally, the professor says that playing video games helps children prepare for later life
because it helps them learn to use computers. He says this is a necessary skill in almost every
modern job. This contradicts the reading, which says that children do not learn useful skills while

playing video games.

[ Sample Response 8141 ]
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Chapter

7 _ Challenging Arguments

kill “uild " p X"

Paraphrasing

1. numerous/several
3. the completion of
5. the protection of
7. preventing, curing

2. using, hazardous

4. made a reservation

6. Knowing

8. Carefully checking, necessary

. In the early 1500s England was one of the weaker nations in Europe. Both France and Spain had

far greater strength militarily than England, especially on the sea. This was critically important
because Europeans were just beginning to colonize North and South America. Both France and
Spain were growing wealthy from their South American colonies, but England’s role in the
colonization of the Americas was limited due to its weak navy. This changed in 1588, when
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England’s navy defeated the Spanish navy and emerged as the most powerful navy in the world.

V 1dvd

2. In the early 1500s England was one of the weaker nations in Europe. Both France and Spain had
far greater strength military than England, especially on the sea. This was of critical importance
because Europeans were just beginning the colonization of North and South America. Both
France and Spain were growing wealthy from their South American colonies, but England’s role in
colonizing the Americas was limited due to its weak navy. This changed in 1588, when
England’s navy defeated the Spanish navy and emerged as the most powerful navy in the world.

(@]
T
o
—
[
(@]
ac
o
[}

o

=Oll=l
1%
N
(o]
o
o
(m
0
P
e
K og
o HI
o 1o

90| UAT F FILIGUCE TUAAG ATOIS E3| sAoIA YRt B
Cf o =ojgh WOl 2ol AUIXIEE of A U] o
ARIX| 20| 29XIT YUK Of CZl Alix|sof

S o

1588 F= olii0] AHQ! sh=S FM=1 MAol

23 TAEE 2R3

ro mt
ro
mn

=T

= ¥
o
[>
)
[>
g
in
O

>x o
09 >
H oz
10 rlo
Boe =2
nor 4o
o o
o RO
o g
o 2
32
n
f=!
Vel
ol
ro

>
AN
0
oy
il
o
:IO\__\
Mo
|0
U
on r
0
oo
2
B
i)
o

Summarizing
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- Topic Sentence: What is less understood is how birds are able to find their way while
flying thousands of miles.

=» Scientists are unsure of exactly how birds find their way when they migrate.

- Topic Sentence: Clearly the ancient Egyptions had a very advanced civilization.

=> It is obvious that the civilization of ancient Egypt was very advanced.
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- Topic Sentence: Thus, the use of coal has both important benefits and important
disadvantages.

- Coal is both good and bad for humanity.
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=» Scientists have learned how to produce diamonds in a laboratory, and this will cause the
price of diamonds to drop in the future.
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= In earlier periods, salt was one of the most valuable substances on earth because it was

difficult to obtain and was essential for food preservation.
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Note-taking for Reading
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Main Idea : Electric cars’ advantages

1. An alternative to gasoline cars
- past : slower & run for a few hrs
-today : ! battery tech — faster & run longer

2. Lessen air pollution
- more than half |
3. Economic advantage
- expensv to purchase an electric car
* no need for gas — cheaper over time
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Note-taking for Lecture

(&2 XIZ]

You have probably heard people saying that we should switch to electric cars to reduce our
usage of gasoline. What I’d like to do today is show you why that might not be such a good idea.

OK, number one, electric cars are much better than they were in the past. Uh, they’re faster
and they can run longer, but there is still one basic problem: there’s nowhere to recharge the
battery in your car. You have to do that at home. That means you can’t use an electric car for long
trips. Until we have stations where you can recharge your battery ... uh, kind of like the gas
stations we have now, electric cars aren’t really going to be a practical alternative to gasoline-

>

powered cars.

Second, switching to electric cars may help to reduce air pollution, but it will also cause new
problems. If everyone switches to electric cars, then America is going to have to produce a lot
more electricity. And where are we going to get that electricity? The only realistic way to produce
that much electricity is to build a lot more nuclear power plants. It also creates serious problems
with pollution.

Finally, although people will no longer have to buy gas for their cars, if we switch to electric
cars, their electric bills are going to increase greatly. So, it’s not really certain that electric cars will
be any less expensive than gasoline-powered cars.

[Z2 X2 1A ]
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Main Idea : Electric cars are not a good idea.

1. Nowhere to recharge battery
- only at home — long trip x
*. not practical
2. New problems
- using electric cars — need more electricity
— need more nuclear power plants
— create pollution probelms

3. Electric bills
- expensyv bills > gasoline cars
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Idea Combining

Main Topic : Electric cars

Contradiction Points

Reading Lecture
Electric cars can be a practical Until we have recharging stations,
alternative to gasoline-powered Point 1 they cannot be a practical
cars. alternative.
Switching to electric cars will Point 2 They will cause a new problem with
reduce air pollution. pollution.
Electric cars will have economic Point 3 They will not be less expensive than
advantages over time. gasoline-powered cars.

Making an Outline

Introduction
Main Topic Sentence : The professor opposes the reading passage for some reasons.
Main idea in Lecture : The professor shows doubts about the electric cars.
Main idea in Reading : The reading passage is in favor of switching to electric cars.

Point 1
Topic Sentence : Electric cars have improved, but they still have fundamental problems.
Point & Detail in Lecture : Electric cars can be recharged only at home.
Contradiction in Reading : Electric cars will be a practical alternative.

Point 2
Topic Sentence : Electric cars will create other environmental problems.
Point & Detail in Lecture : Nuclear power plants need to be built due to increasing electricity use.
Contradiction in Reading : Electric cars may reduce air pollution.

Point 3
Topic Sentence : Electric cars will not help people save money.
Point & Detail in Lecture : People will have higher electricity bills.
Contradiction in Reading : People will not have to spend much money for gas.

Writing a Response
[ Sample Response ]

While the reading is in favor of switching to electric cars, the professor opposes this policy in
her lecture for a number of reasons.

The professor admits that electric cars have improved over the years, but she says that they
still suffer from one fundamental problem. Electric cars can only be recharged at home, and this
limits their range and makes them unsuitable for long trips. According to the professor, electric
cars will not be a practical alternative until this problem is solved.

The professor also points out that while electric cars may help to reduce air pollution, they will
create other environmental problems. Electric cars may reduce the amount of gasoline used in
the US, but they will also increase the amount of electricity used. That means the US will have to
build more nuclear power plants, and these will create environmental problems of their own.

Finally, the professor claims that switching to electric cars will not actually help people save
money. They may not spend as much money for gas, but they will have much higher electricity
bills. The professor shows her opposition that electric cars will be any cheaper.
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[ Sample Response siA ]
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xpanding Your anguage fiji

Confusing Words

. compliment (= z4), complement (v. ~©| =¢lo| =)

. comprehensive (. z&=2)), comprehensible (a. 27+2 olsiz 4 2l=)

. convenient (a. #2[5h), convention (. £3)

. duel (n. =% u2), dual (. 0/=2)

. ecology (n. MEHsh), environment (n. &) *2Ho| H=Yo| T= ZPE= environmental study = environmental science

. economic (a. 4x4)l), economical (a. Zx=2)

. effective (a. a1, efficient (a. 55721 a2
. estimate (n. 7=)), esteem (n. Z7t =3)

© N O 00~ WN PP

Grammar for Writing
1. has
3. provides
5. closes
7. might occur

8. emigrate (v. ei=o2 0f56(c), immigrate (v £F20)x ofFsier))
10. excess (. 7t 12!), access (n. =2 1)

2. need/needed, supplies
4. came

6. estimates

8. were, had missed

Get It Write

. While the reading is in favor of sending

. the professor opposes the viewpoint expressed in the reading

. Although the reading supports, the professor opposes

. The reading passage points out

. Counterexamples were explained by saying

. The professor places more importance on the statement

. as a counterexample

. The professor states other examples that are totally the opposite.

. The professor places more value on economy and safety than on adaptability.

10. The professor claims that there is a limit to the influence of clothing on behavior.
11. The lecture contradicts the idea that people do all jobs better than machines do.
12. As cited in the reading, borrowing money can do serious harm to friendships.
13. The reading points out that a movie can be essentially serious, but the professor places more

Ay

© 00 N O U~ WN

importance on entertainment.
14. The professor offers opposition to the disadvantages of advertising mentioned in the reading.
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When students go to university, they have to make a number of important decisions. One of
those decisions is whether they will live at home or in a dormitory. In my opinion, it is better for
most students to live in a dormitory.

Well, it is true that students may have trouble in college if they do not have their parents to
supervise them, but one of the reasons that we go to college is to become independent adults.
College students have to learn to be responsible and to work on their own. A lot of students do
have academic problems in their first semester at school, but that is part of the learning process.
If students live at home, they will never learn to be truly independent, and that will be a problem
later in life.

It's also true that if students live in dormitories, they are more likely to make bad choices, um ...
like drinking or taking drugs. However, this is also something college students must learn to deal
with. As adults, we have to be able to decide what is right and wrong on our own. A student who
lives at home will never learn to make good choices on his or her own.

Finally, while living in a dormitory is expensive, it is also a priceless experience. Students who
live in dormitories meet lots of people and make friendships that can last their entire lives. Certainly
those friendships are more important than the money a student can save by living at home.
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Reading
Main Idea:
Living at home is preferable.

Point 1
» Need supervision & guidance
- parents — check studying
& school work
i.e. living in dorm — poor grades

Point 2
» Safe from getting into trouble
e.g. drinking & drugs
— can hide their action in dorm.

Point 3
+ Save money
-dorm fee | = tuition fee

Lecture

Main Idea:
Living in dorm is better.

Point 1
+ To become independent adults
- learn responsibility & work on their own
= part of learning process
- at home : not to be independent

Point 2
» Learn to deal w/ trouble
- what is right & wrong

Point 3
+ Priceless expernc
- meeting people & friendship > money

>

[ Sample Response ]

In the lecture, the professor talks about whether it is better for students to live at home or in a
dormitory when they go to college. Although the reading supports living at home during one’s
college years, the professor supports living in a dormitory.

The reading points out that students are more likely to have academic trouble if they live in a
dormitory. However, the professor places more importance on the need for students to learn to
be independent. He says that some students may have academic problems at first. However, this
is part of the learning process, and students have to learn to be responsible. The professor also
says that if students live at home, they will never learn to be independent.

The professor also says that students need to learn to make their own choices. He admits that
students in dormitories may make bad choices. However, he also says that students have to
learn to be able to decide what is right and wrong on their own. According to the professor,
students who live at home wiill not learn to do this either.

Finally, the professor places more value on the friendships that students will make living in the
dormitories than on the money they can save by living at home. The professor says that those
friendships can last a lifetime, and this is more important than saving money.
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chapter (J3  Solving Problems

kill “uild p X1

Paraphrasing

1. common 2. significant
3. safer than 4. more difficult
5. less, than 6. cheaper
7. more likely/ more probable

B 1. Although Mars is not as large as the Earth, the two planets are in reality quite similar. Mars is
less volcanically active than the Earth is now, but there is evidence that it was less inactive in
the past. Mars has water, mostly in the form of ice. Water is less abundant than on Earth, but
its presence is not insignificant. It suggests that Mars may once have been capable of
supporting life. In fact, it is not completely impossible that Mars may still support life, although
most researchers think it is unlikely.

2. Although Mars is smaller than the Earth, the two planets are in reality quite similar. Mars is not
as volcanically active as the Earth is now, but there is evidence that it was more active in the
past. Mars has water, mostly in the form of ice. Water is scarcer than on Earth, but its presence
is significant. It suggests that Mars may once have been capable of supporting life. In fact, it is
possible that Mars may still support life, although most researchers think it is unlikely.
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-» The cost of airline travel has decreased because increasing competition has forced airline
companies to lower their prices.
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- Since they were accidentally brought from America, bullfrogs have become an

environmental problem in Australia because they destroy crops and have no natural
predators to control their population.
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-» Because robots are now becoming smaller and more complex, they will be able to perform
more and more of the jobs currently done by humans.
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=> Itis the responsibility of news stations and newspapers to report the news honestly because
they have such a great influence on people’s opinions.
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= Smog and air pollution damage statues and monuments because they can discolor the
stones and create acid rain which destroys the stones.
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= Animals with higher numbers of rod cells see better at night while those with higher
numbers of cone cells are better able to distinguish colors.
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Note-taking

Main Idea : Declining population of dolphs
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1. Tuna fishing
- fishermen use dolphs : dolphs around tuna
- see dolphs — lower nets — nets injure dolphs
— after releasing, dolphs die

2. Pollution
- dolphs’ sudden death
— PCB poisoning
= chemicals while making plastic — enter the water — kill dolphs

Note-taking for Lecture

(&2l xIZ]

OK, today we are going to talk about the declining populations of dolphins and some of the
ways that we can help stop these declines.

As you already know, the tuna fishing industry is largely responsible for the decline in dolphin
populations. But in recent years, the tuna fishing industry has taken steps to fix this problem.
Many supermarkets now only sell what is called “dolphin-safe” tuna. Uh ... what that means is
that no dolphins were killed while catching the tuna. To get a dolphin-safe certification, a tuna
fisherman must do a number of things. First, the fisherman must use different nets that are less
likely to injure dolphins. Second, the fisherman must have an observer on board his boat when he
goes tuna fishing. The observer watches to make sure that no dolphins are killed. Tuna fishermen
are encouraged to do all this because the dolphin-safe certification makes it easier for them to sell
their fish. It has been estimated that this system has reduced dolphin deaths by 97%.

Another change that has taken place in recent years is that governments have placed tighter
controls on companies that make plastics. Those companies are no longer allowed to build
factories near the water, and they have to take special steps to make sure that no PCBs get
released into the oceans. This has helped reduce the number of deaths caused by PCB poisoning.
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Main Idea : Efforts to stop declining dolphs’ population

1. Tuna fishing ind.
- Supermarket
: selling dolphin-safe tuna : no dolphs killed for tuna fishing
- Fishermen (getting dolph-safe certif.)
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i) must use different nets

ii) must have an observer on the boat
* make easier to sell fish
.. | dolphs death by 97%

2. Gov. controls on plastic com.
- can’t build factories near water
- must take special steps
.. No PCBs into oceans

>

Idea Combining

Main Topic : Declining populations of dolphins
Problems & Solutions
Reading Lecture
Fishermen use dolphins while Point 1 People sell dolphin-safe tuna at
. oin
fishing for tuna. supermarkets.
Large group of dolphins die due to Point 2 Governments have control over the
L oin . . .

PCB poisoning. plastic-making companies.

Making an Outline

Introduction
Main Topic Sentence : The professor explains the changes that have helped stop the decline
in dolphin populations.
Problem in Reading : Dolphin populations have declined in many oceans for several reasons.

Point 1
Topic Sentence : Dolphin-safe labeling on tuna has been used.
Point & Detail in Lecture : To get the dolphin-safe certification, fishermen have to change the
nets and must have an observer on board.
Problem in Reading : Tuna fishing is a reason for the decline of dolphin populations.

Point 2
Topic Sentence : Governments have started to control the companies that manufacture
plastics.
Point & Detail in Lecture : Plastic manufacturing companies are not allowed to build factories

near water.
Problem in Reading : PCB poison killed dolphins.

Writing a Response
[ Sample Response ]

According to the lecture, there have been a number of changes made in recent years that have
helped stop the decline of dolphin populations.

The first change has been the use of dolphin-safe labeling on tuna. Dolphin-safe labeling
certifies that no dolphins were killed while catching the tuna. This, according to the reading, was a
major reason why dolphin populations were in decline. In order to get the dolphin-safe labeling,
fishermen must switch to fishing nets that are less likely to injure dolphins, and they must have
an observer on board to certify that no dolphins are killed in the fishing process. According to the
professor, dolphin-safe labeling has been extremely effective.
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The other measure discussed by the professor is that governments have started to place
tighter controls on companies that manufacture plastics. These companies are no longer allowed

to build factories near the water. By preventing

these companies from building factories near the

water, we can stop the PCBs that poison dolphins from entering the water.

[ Sample Response &A1 ]
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Confusing Words
1. exhaustive (a. Zxft), exhausting (a. 1|5
3. fund (v 7122 A2, finance (2 712)
5. good (a. 5551, well (ad. =)
7. hostel (n. 22:4), hostile (a. 2012

9. intuition (2. =2, 221, intent (. ojx| ©fz)

Grammar for Writing
1. were
3. have
5. ask
7.is
9. has

Get It Write

. in order to make sure one is healthy
. According to the lecture

. The professor discusses solutions

[Eny

. to discuss the possible ways
. discusses solutions to improve
. Possible solutions to the problem
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10. The professor suggests solutions to various
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2. extinguish (v. 2 A7[c}), extinct (a. 2z
4. formally (ad. z~o=), formerly (ad. =i, ofxiof)

6. historic (a. @ixp=el), historian (n. “iA} Afst)

8. idol (n. =4), idle (a. s7/%h)

10. neighborhoods (» x1%, =), neighbors (n. 0/2)

pSi=El)

2.is
4.is
6. needs
8. makes
10. have

. are able to discuss the solutions to illegal computer hacking

. Possible solutions to the Amazon’s pollution problems are suggested by the professor.
. The professor proposes solutions to the problem of human rights violations.

health problems by explaining our environment.

11. In order to solve the problem of water shortage, we should learn to conserve water.
12. In this way, the professor discusses the solutions to social issues that are often overlooked in

Asian countries.

13. The professor used different management principles to explain the solutions to the students.
14. Studying ecosystems is a possible way to protect endangered animals.
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OK, today we are going to continue our discussion of the ancient pyramids. We have already
discussed the challenges the Egyptians faced in building these huge monuments. Now we are
going to talk about how they overcame those challenges.

Well, the first challenge the Egyptians faced was getting the stones to the construction site.
Moving a stone that weighs 2.5 tons is no easy task. In order to move these stones, the
Egyptians made a kind of movable road made of logs. They would uh ... rub animal fat on the logs
to make them slippery, and then they would drag the stones over the logs. This was a slow
process, but it allowed the Egyptians to move the stones over great distances. For the larger
stones, like those at the bottom of the pyramids, the Egyptians built large rafts and transported
the stones by water. That way they only had to drag those large stones a relatively short distance.

Once they got the stones to the construction site, the Egyptians built large ramps made of dirt
leading up to the pyramids. They would push the stones up this ramp to build the next level of the
pyramid. Then they would make the ramp a little higher and build the next level. Once they
finished the pyramid, they would remove the ramp, leaving only the pyramid.
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Reading Lecture

Main Idea : Main Idea:
Two mysteries of building pyramids Ways to overcome the challenges
Problem 1 Solution 1
+ How obtain & transport stones? + Movable road w/ logs
- Weight - rub animal fat — slippery
i) average: 2.5t — drag logs
ii) base stone: 7 t " slow but good for long distance
- Long distance - rafts : by water
: quarries — constctn site; 60 miles " good for short distance
Problem 2 Solution 2
+ How lift the stones? + Built large ramps w/ dirt
- Didn’t have large crane - push stones up — build ramps

— build next level — remove ramp

[ Sample Response ]

In her lecture, the professor talks about how the Egyptians overcame certain challenges
involved in building the pyramids. One problem mentioned in the reading is that the stones used
to build the pyramids were extremely heavy and had to be transported over long distances.
According to the professor, the Egyptians used logs that had been greased with animal fat to help
them move the smaller stones used in the pyramids. The animal fat made the logs slippery and
this made it easier to move the logs over them. In this way, the Egyptians were able to move the
stones over the long distances from the quarries to the construction sites. For the larger stones,
the Egyptians built large rafts and moved them by water.

Another problem faced by the pyramid builders was how to get these large and heavy stones
to the upper levels of the pyramids. Of course they did not have cranes like the ones used in
modern construction. The professor says that the Egyptians built a dirt ramp leading up to the
pyramid. Rather than trying to lift the huge stones, the Egyptians simply slid them up this ramp.
This is how they overcame the challenge of building the top part of the pyramids. Once a pyramid
was completed, the Egyptians removed the ramp.

[ Sample Response 3lA ]
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chepter (44 Supporting Explanation

kill “uild  p X
Paraphrasing
1. the major failure 2. They say
3. protect many endangered 4. which can pump
5. Although 6. If we do not stop

7. due to (because of)

E] 1. Although global warming is a significant problem, it is not the only problem that humanity
faces. Population growth, the lack of good farming land, and a need for more clean water are all
problems that must be solved in the near future. Advances in technology alone will not be
enough to solve these problems. People must change their lifestyles so that they are not as
destructive to the environment. This means that people must become less wasteful if they are
to solve the problems they face.

2. While global warming is a serious problem, it is not the only problem faced by humanity. A
growing population, the need for more good farming land and clean water are all problems that
we must solve in the near future. Technological advances alone will be insufficient to solve
these problems. People have to change their lifestyles so that they are less damaging to the
environment. This means that unless we become more environmentally aware, we will be
unable to solve the problems we face.
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-» The spread of electronic products causes problems with pollution because they contain toxic
substances.
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> The early American settlers faced many difficulties in their first few years.

Scripts & Answer Key A25

V 1dvd

(@]
T
(=]
@
|
o)
T
(=]
g



B 1 g ARlA 250lE 22| X0 destn Yote 250[ch YetMoz ol2fet F2|E H2tn 220k AR 2
S0z Z Y2zl Bolle St {07t UK 0] o= CHE H2 BFO| AFIA 2F0| ot ZE ABIN &
S52 2 7KK SSAQ EXS VX1 UTE a5 25 BAE #1 T} 0] 2EFS2 e T 7t 7HY
2 5 AMstH, 159 PF= ARl HE ESoh= A0t ZE AEA 2552 £ot YFS w1 U=d|, 0
So Y2 x| HZ 93t T0IZ RO 20|t DIXIYOR, BE ABIH BFSS 02 2T YU ofge
o SXIX0IH, HE |Xlots Ol HRSt Y2 E= A0| K49 Y=ol
=» Social insects live in colonies where each insect has a particular job to do.
2. Gisl =42 63719 /IdE VXD UnE O 3 7Y 2 fM2 JioolAc|H a4E0E 3ot JlodAE
HEE0] Y222 0|R0RE 7Is40] 02 =Ch IA2 i Y2 t7IE 7K1 T REL= |49 F ¥
mz 2 Moot JhoolAlt Fe| REIh= ol 22 #1

2 3| LI M BT o0 2 R

S 7k540] IS &CH 012 9N Y YoiEl 249 YINOICk 0|2 BRI 4 8 Jjo| Bahi2

o YA NS FHE RUS HMojets FE 028 02 SSFP BECH S42 1 Yols CEt 2
7

o
719 RS T R 1SS

I

3. Gkl XISAF slAE &F SIS e o O SlAks O B2 SM0IE SES BT oIS S0, XISAt &A=
AE el ER 542 Saoh| ol P A 2A0IAl QIESIT Eot EFOJ0IE HEET ERS MEs
Sgol7| ol 17 HME S[Al= QESIT, Tl ZH st TRs|Ato] ZH7E 47T XSAH 2|AF HA| OfatE
AE dustEdl 228 SXAE A 2 AT ACTE X2l 2E R20| & SN USHXE A= ofLct
ATIO] 3 SHUM USHAIH A= e SHOM S0 2 £ QUCH 282 o SFUML 2x= tE 3
YolMel =M Eot FLAZ 4 U

= Building a car is a very complex process, and many different problems can occur.
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Note-taking for Reading
[ =3l X1 A ]
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Main Idea : Water shortage — cause & effect
* global warming — water shortages |

1. Causes
- population{ — need more water
- water pollution{ — less safe water
- in large cities : use limited water
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2. Effects
- diseases
i) nearly 50% diseases — lack of clean drinking water
ii) spread thr. unclean drinking water — kill children & elderly

Note-taking for Lecture

(&2 xIZ]

Well ... as most of you know, India has the second largest population in the world. Its
population is growing much faster than that of China. India will have the highest population in the
world by 2030. This rapid population growth is causing serious problems in India, and one of the
most serious of these problems is the lack of safe drinking water.

India’s water problems are only getting worse. The population of India is growing rapidly. The
water needed just for basic needs will exceed the total water supply by 2050. Thus, you can
clearly see that water shortages are one of the most serious problems faced by a country like
India.

Furthermore, um ... over 60% of India’s citizens lack daily access to safe drinking water. In the
capital of New Delhi, in fact, over 25% of the population has no running water in their homes at
all. Every year 2.1 million Indian children under the age of 5 die, largely due to diseases caused by
a lack of clean drinking water. Many water sources in India are heavily polluted. For example, the
Yamuna River, which supplies most of the drinking water for New Delhi, is so polluted it isn’t
even safe to bathe in.
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Main Idea : Water shortage in India
* population { India > China — lack of safe water
1. Growing population
- need basic water > total water supply by 2050
2. Lack of safe drinking water
- New Delhi
i) 25% | no running water at home
ii) many water sources polluted — kill children under 5
e.g. Yamuna River
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Idea Combining

Main Topic : Water Shortage

Supporting Explanation

Reading Lecture
Water shortages are caused by the People in India suffer from lack of
rapid growth of the world’s Point 1 daily access to clean drinking water.

population and water pollution.

The lack of clean drinking water Point 2 Many water sources in India are
makes people get diseases and die. seriously polluted.

Making an Outline

Introduction
Main Topic Sentence : The professor strengthens the explanation of water shortages by talking
about India.
Main Idea in Lecture : A shortage of clean water is the most serious problem.
Main Idea in Reading : Large population and pollution are main reasons for water shortages.

Point 1
Topic Sentence : The professor points out India’s large population.
Supporting Detail in Lecture : India will need more water than it has in total as a result of its
population growth.
Point in Reading : Water shortages are primarily caused by population growth.

Point 2

Topic Sentence : The professor uses New Delhi as an example of the problems that India

faces.

Supporting Detail in Lecture : The professor points out that there is no running water in
homes and that millions of children die due to a lack of clean
water.

Point in Reading : The world’s water shortages create serious health problems.

Writing a Response
[ Sample Response ]

The professor talks about water problems in India to strengthen the explanation of water
shortages. The points that the professor makes in his lecture prove that a shortage of clean water
is one of the most serious problems the world faces.

In the lecture, the professor points out that India has the world’s second largest population,
and that its population will be larger than China’s by 2030. According to the professor, India’s
rapid population growth is creating severe water shortages. The professor also points out that by
2050, India will need more water than it has in total as a result of its population growth. These
points directly support the reading’s claim that water shortages are primarily caused by population
growth.

In the lecture, the professor uses New Delhi as an example of the problems that India faces.
According to the professor, more than one quarter of the population of the city has no running
water in its homes. He also points out that the city’s main water source is heavily polluted.
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According to the professor, more than 2 million Indian children die each year because of diseases
caused by unclean water. This supports the point made in the reading that the world’s water
shortages create serious health problems.
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Confusing Words
1. overdo (v- 7Lz sich), overdue (a. 7[sto] Xl 2. perspective (. %), prospective (a. oo, zx)
3. reality (n. 512), realty (n. =544 4. register (v s=sich), registrar (n. a5 92 AT
5. root (n. 2¢), routes (n. 2, &=) 6. sensible (a. ==5 #=%), sensitive (a. 21215 of2is)
7. soar (v. Zoieert), sore (a. 0fZ) 8. stationery (». 2+%), stationary (a. vs =)
9. reasonable (a. ==1%1), responsible (a. ~¢| £oi0)) 10. Various (a. ti271x|2)), variable (a. #i=i2zi2)
Grammar for Writing
1.0® 2.® 3.® 4.0
5® 6.@ 7.®
Get It Write
1. This supports the reading’s claim

. The points that the professor makes in the lecture prove

. This supports the point made in the reading

. What the professor says about diet supports the reading’s claim

. The main point in the lecture supporting the reading

. These points directly support the reading’s claim

. Regardless, this supports the point mentioned in the reading

. These points support the reading’s claim that cloning will greatly benefit society in the future.

. The main point in the lecture is that exposure to classical music has a beneficial effect on a

child’s mental development.

10. The lesson in the lecture is that the mass media highly influence lifestyle.

11. What the professor says about lizards’ changing colors supports the reading’s claim that
animals defend themselves in various ways.

12. These points directly support the reading’s claim that owning a business is better than working
for a company.

13. Regardless, this supports the point mentioned in the reading that TV addiction is bad for

people’s health.
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14. The points that the professor makes in the lecture prove that one’s IQ is not the best way to
measure one’s memory.
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Over the past few years, advances in telescope technology have allowed astronomers to
confirm the presence of planets orbiting other stars in our galaxy. What we have learned about
these planets makes it highly unlikely that we will ever contact an alien life form.

OK, first, most of the planets we have found outside our solar system are totally unsuitable for
the development of life. Uh, most of the planets found outside our solar system are huge gas
giants like Jupiter. The intense gravity of these planets makes it highly unlikely that life would
ever form on them. Furthermore, most of these planets have been found to orbit very closely to
their stars, so they would be extremely hot as well. To date, no Earth-like planets have been
found outside our solar system. This suggests that planets on which life could develop must be
especially rare.

Second, even if life could form on any of the planets we have found so far, uh ... it is highly
unlikely that we could ever make contact with it. All the planets that astronomers have found are
thousands, or even tens of thousands, of light-years away from Earth. The huge distances
between Earth and these planets basically make travel between them impossible.
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Reading
Main Idea:

Life on other planets - impossible

Point 1
Special circumstnc required
» Planet must
- be a certain size
- be a certain distance — star
- contain mixture of chem.
+ Only Earth is possible

Point 2
Great distance between planets
+ X contact an alien
+ X travel

Sample Response

Lecture

Main Idea:
Cannot contact an alien life form

Explanation 1

» Outside of Earth — unsuitable for life
- huge gas
- intense gravity
- close orbit — too hot

V 1dvd

Explanation 2
» Huge distance
- too far b/w Earth & planets
: 1000 light-years
— cannot travel & contact

0 HO

In the lecture, the professor talks about planets that have been discovered around other stars
in the galaxy. What the professor says about these planets supports the reading’s claim that it is
unlikely that life will ever be found on another planet.

First, the professor points out that most of the planets that have been found are large planets
like Jupiter, and that most of these planets orbit very close to their stars. This means that they are
too hot to support life. The professor says that the discovery of these planets suggest that
planets like Earth are extremely rare. This supports the point made in the reading that life is
unlikely to exist outside of Earth because life requires very specific conditions, and these
conditions are very uncommon.

The professor also points out that most of these planets are millions of light-years away,
making travel to them impossible. This supports the reading’s claim that even if life does exist
outside of Earth, we will never be able to contact it because it will be too far away.
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Progressive Test (1)
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Some of you may have heard about the benefits of those stylish smart cars. However, smart
cars may not really be as advantageous as people think. Today, let’s look at what they say is good
about smart cars.

First of all, smart cars don’t necessarily decrease traffic accidents. Yes, they do have several
safety devices, but driving along a busy highway doesn’t guarantee that these devices will save
your life. For example, a driver may think that because his smart car has anti-lock brake systems
or ABS, he’s safe. The driver may lose control of the car because on soft and slippery surfaces
like snow and ice, ABS may not work efficiently. You see my point?

OK, what else? Let’s see ... smart cars don’t actually have any effect on traffic situations. They
are small and compact, but that doesn’t make any real difference when you’re in the midst of
traffic. Driving along a narrow road or along a highway has more to do with the driver’s skill and
the condition of the car than with its size. In Europe, where smart cars were first introduced,
people still have the same traffic problems as they had before smart cars were introduced.

Lastly, smart cars are expensive to own and maintain. They may need less gasoline than
regular cars, and be cheaper to buy, but their parts are technologically advanced and therefore
more costly. Um, for example, smart cars are manufactured from high-tensile steel and have
computerized engine systems and ABS. Repairing and replacing these parts definitely requires a
lot of money.
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Reading Lecture -
Main Idea : Main Idea: ’_%.
Benefits of smart cars Not advantageous >
Point 1 Contradiction 1 _|§
+ Lessen traffic accidents - Not decrease traffic accidents 2 2
- safety device - safety devices %‘
e.g. airbags & anti-lock brake system — not guarantee
e.g. on a highway, on snow & ice
Point 2 Contradiction 2
« Ease heavy traffic + No difference in mid. of traffic
- unique structure & small size - need driver’s skill > small size
— good on narrow & busy street e.g. Europe example
e.g. parking
Point 3 Contradiction 3
« Cost-effective + Expensive car
- fuel-efficient - high tech.
- easy to maintain & repair — cost | to repair & replace parts

Sample Response

In his lecture, the professor completely contradicts the points made in the reading. While the
reading says that smart cars are better than other cars, the professor points out that there are a
number of problems with smart cars.

The professor first questions the safety of smart cars. He says that while smart cars may have
a lot of safety features, there is no guarantee that they will save your life. A driver might lose
control on slippery surface if he relies on ABS.

The professor also says that smart cars do not help solve traffic problems. He says that small
smart cars do not make traffic flow easy by giving an example Europe. This contradicts the
reading, which says the small size of smart cars helps reduce traffic problems.

The last point made by the professor is that smart cars are actually very expensive to buy and
repair. The professor says that the technology in smart cars makes them expensive to build and
to fix them. This casts doubt on the reading’s claim that smart cars are less expensive because
they use less gas.
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[ Sample Response &A1 ]
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Some of you may have heard that it’s a good idea to start teaching kids a second language as
early as possible. There is a lot of evidence, however, showing that this may not be a good idea.

For one thing, while very young children are naturally better language learners than older
children, there is some evidence that learning a second language at a young age also causes
problems. There have been several studies of children who grow up in bilingual families, where
they learn two languages. These studies have shown that while these children do learn the
second language very quickly, eh ... they never fully develop their language abilities in their first
language. In other words, they learn two languages, but they never completely master either
language.

In addition, young children have extremely limited attention spans. A typical 3 or 4 year old
may be able to focus his or her attention for perhaps uh ... 15 minutes at a time. So, while young
children are usually very enthusiastic about learning, they also find it very difficult to concentrate.
This makes it quite difficult to teach them.

Finally, while learning language at an early age may help children develop better study skills, it
means they have less time to play with other children. Playing with other children is how we
develop our social skills. A child who has good study skills but limited social skills is unlikely to
succeed in life.
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Reading Lecture = %
Main Idea: Main Idea: =

Learning 2nd language at early age

Advantage 1
« Children’s brains are adaptable
— still growing
- grow older — harder to learn

Advantage 2
« Curious & eager to learn
- school = fun activity
# daily routine

Advantage 3
+ Succeed in school
- developed study habits
— experience of studying before
entering school

Sample Response

Evidence of its disadvantages

Evidence 1
« Bilingual families’ case
- learn 2nd lang. quickly
. x fully develop 1stlang.

Evidence 2
« Limited attention spans
- 3~4 yrs. : 15mins.

Evidence 3
« Limited social skills
- less time to play
— unlikely to succeed in life

In the lecture, the professor talks about why it may not be good to teach children a second
language at a young age. The professor points out that while young children are better language
learners, learning a second language at an early age can interfere with their ability to learn their
first language. The professor cites studies of bilingual families that show that the children in these
families never fully master their first language.

The professor also challenges the reading’s claim that the natural enthusiasm that young
children have for learning makes them better suited to learn languages. She admits that young
children are eager learners, but she also points out that they have very limited attention spans and
can only focus their attention for short periods of time. According to the professor, this makes
them very difficult to teach.

Finally, the professor points out that if a child learns a language at an early age, then the child
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will have less time to play with other children. As a result, the child’s social skills will be less
developed. According to the professor, these social skills are more important to future success
than the study skills a child may gain from learning a second language at an early age.

[ Sample Response &iiA1 ]
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E Independent Writing Task

[ Sample Essay &4 ]
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chapter (J5 Agree / Disagree

kill :uild |°/p EXN

Thesis Statement

B

1. (A 2.(C) 3.(B)

2. Involvement in after-school activities contributes much to the personal and academic
development of students.

3. Stress management is an invaluable skill for individuals who find modern life too fast.

4. Censoring the media removes the ability of the people to express themselves freely and to make
their own choices.

5. The study of history is crucial to ensure that we do not repeat the mistakes of the past.

6. Enhancing employee mood and productivity by offering rewards will benefit employers in the
long run.

7. The rapid pace of change in communications technology often serves to isolate people rather
than unite them.

Topic Sentence

2. FHIZ: (A), T2 A
3. FH2: (D), & 724 (D) - (B)- (A) - (C)
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B 2. ™M Childhood stress
Topic sentence: Childhood stress is often caused by studying, making friends, and parental

expectations.
3. ¥ Benefits of traveling
Topic sentence: Traveling provides people with the opportunity to embrace new cultures,
acquire new knowledge, and enrich their lives.

4. ™ Kids doing chores
Topic sentence: Having kids help out with household chores teaches them about the value of

hard work.

5. ¥ Let adults play games
Topic sentence: It is important for adults to play games together for several reasons, social and

psychological.

riting ractice [AlE

Brainstorming

complement
each other

about others about myself
learn something new
appreciate differences

fit together
like a puzzle

Outlining

Introduction
Main Opinion
: Strongly disagree with the statement
Thesis Statement
: Learning from each other and complementing each other’s strengths and
weakness are essential elements for a friendship.

outgoing + patient

Body
« Paragraph 1

Topic Sentence
: | can learn something new about myself and others.

Supporting Details
- because our personalities are different
- if friends have the same interests — never consider differences

« Paragraph 2

Topic Sentence

- We can learn from each other and their differences complement my strengths
and weaknesses.
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Supporting Details
- fit together like a puzzle
e.g. outgoing person and patient person

Conclusion
Restatement
: If friends have the same personalities, we cannot learn from them and cannot
complement each other.

Writing an Essay
[ Sample Essay ]

| strongly disagree with the statement that people with similar personalities make the best
friends. | disagree with this statement because | think the opportunity to learn from each other
and to complement each other’s strengths and weaknesses are essential elements of a good
friendship.

One of the things that | value most about my closest friends is that | can learn things when
spending time with them. Each time | meet my closest friends, | can learn something new, either
about others or about myself. This is possible because my friends have different personalities
than | do. If all my friends thought and acted in the same manner as | did, then | would never have
to sit down and consider the differences between my friends and me. It is this kind of
examination that teaches me about myself and others, and it is only possible because my friends

el
>
e
o

are different from me.

Furthermore, my closest friends are people whose strengths and weaknesses complement
my own. My friends and | kind of fit together like a puzzle. One of my friends might be more
outgoing than | am, but | might be more patient than him. If this is the case, then our strengths
make up for each other’s weaknesses when we meet. If we had similar personalities, we would
have similar strengths and weaknesses, and this would not happen.

So, to wrap up, | strongly disagree with the idea that the best friends are those with similar
personalities. If our friends have the same personalities as we do, then there is very little we can
learn from our friends, and we cannot complement each other’s strengths and weaknesses.

—

[ Sample §iA
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xpanding Your anguage EAH

Confusing Words

. advantages (n. 2x=el ofel) *merits . 27
. after a week

aim (n. 2x) *ambition n. z= oj

. old (a. 2z42) *antique a 2o

© N O w R

. region (v. Zcist x1%)

Grammar for Writing

2. exact *exactscience Hz 1fst

4. lonely (a. ¢/z2) *alone a ==

6. enjoyed (v. z7[cf) *amuse v. £77] aict

8. relevant (a. 2ii=l) “appropriate a. =5 2o

10. rarely (ad. zxi2f ~5l7] 2/2)

rlo

When traveling, people visiting places for the first time are usually offered a number of different
activities to do and sights to see. Among these , going to a museum is one of the most popular
choices. First, people visit museums b ecause this is the most convenient way to learn about the
history and culture of a given travel destination. It offers insight into the roots of a region or a
country and helps tourists develop an appreciation for the area in a relatively short time. People
also go to museums because they are inexpensive. T he cost of going to a museum is also very
economical when compared to other tourist activities like exhibitions and fairs.
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Get It Write

[N

. | agree with the parents

. | disagree (with the idea)

. | totally oppose the idea

. I am not in favor of training animals

. | agree (with the idea)

. There are a few reasons / There are a number of reasons

. There is no doubt in my mind

. | disagree (with the statement) that working for a large multinational company is better than
working for a small local company.

9. | agree that reading history books is a good way to learn about historical people and events.

10. There is no doubt in my mind that taking a vacation is essential to refresh the mind and body.

11. There are several reasons why watching plays can be second-hand experience for people.

12. | totally oppose the idea that people can be judged based on their appearance.

13. 1 am not in favor of encouraging children to watch television for entertainment.

14. There are a number of reasons why traveling to other countries is the best kind of education.

0N O O~ WN
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P125

Brainstorming

usually 30 years older

formed beliefs
in childhood

discuss with friends

parents don't know
everything

grew upina
different time

different
beliefs

what they do

Outlining

Introduction

| agree with the statement because parents’ childhoods are different and children do not tell
their parents what is happening to them.

Body
» Paragraph 1
Child’s beliefs and parents’ beliefs are different. How can the parents understand
children completely?
- growing up in a different time
e.g. usually 30 years older
- childhood important for forming opinion and beliefs

el
>
e
o

» Paragraph 2
Parents do not know much about their children’s lives.
- usually secretive
e.g. about friends, what’s happening in their lives
- discuss problems with friends

Conclusion
Parents can never totally understand their children because they grew up in a different time
period and do not know much about what’s happening in their children’s lives.

[ Sample Essay ]

| agree that parents will never totally understand their children. There are a number of reasons
why | think this is true. Parents will never completely understand their children because their
childhood experience was so different. In addition, their children do not tell them everything that
happens in their lives.

Since parents are usually around 30 years older than their children, they grew up during a
totally different time. Since childhood is the most important time for forming our opinions and
beliefs, the opinions and beliefs of our parents are based on a world that is 30 years in the past. If
the bases for a child’s beliefs and the beliefs of his parents are so different, how can the parents
ever completely understand their child?

Scripts & Answer Key A4l



Furthermore, children are usually quite secretive. They try to hide a lot of what they do from
their parents. Children may not tell parents about their friends or what is really going on in their
lives. | remember, when | was a kid, | would always choose to discuss my problems with my
friends instead of my parents. Since parents do not know everything that is going on in their
child’s life, they cannot possibly understand their child totally.

To sum up, parents will never be able to totally understand their children because they grew up
in a different time and they do not know enough about what happens in their children’s lives.
These differences create a gap between parents and their children that can never be totally closed.

[ Sample sliA1 ]
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chapter (4 Preference

kill “uild " p LA

Thesis Statement

1. (B) 2. (A) 3.(B)
E] 1. Well-stocked hypermarkets offer a much better shopping experience than that of specialty
stores.
2. The convenience offered by a flexible work schedule makes it much better than a rigid work
schedule.
3. Online newspapers are in many ways preferable to newspapers when you are looking for the
latest news.

4. Home is a more productive environment in which to work compared to an office.

5. The job security offered by an office job is much more attractive than the financial uncertainty of
freelance work.

6. A person living a simple life feels more content and experiences less stress.

7. There is more entertainment and more opportunity for people in the city.

Topic Sentence
1. Z=H|2: (B), H&74: (B)-(A)-(C)-(D)/(B)-(A)-(D)-(C)

A42 www.linguaforum.com



2. FHIE: (A), SN (A)-(C)-(B)- (D)
3. #H&: (D), T4 (D)-(A)-(C)-(B)/(D)-(A)-(B)-(C)

E] 1. vf Benefits of traveling with children
Topic sentence: Traveling with children is more enjoyable and educational for the whole family.
2. i Advantages of genetically changed plants
Topic sentence: Genetically changed plants could be an effective solution to help poor people.
3. ¥ Why psychological therapy is better
Topic sentence: Psychological therapy is a more effective method in helping people get over
their phobias.
4, ¥ Promoting people from within
Topic sentence: Promoting people from within the company is better than hiring people from
outside because they already know how the company works.
5. ¥ Visiting a local hangout place
Topic sentence: Going to a local hangout place helps you to understand more of the country’s
culture.

riting ractice [Xky

Brainstorming

8 1dvd

motivate
each other

help when in trouble
big group

Introduction
Main Opinion
: Prefer being a member of a team
Thesis Statement
: Athletes on a team can help each other perform better and share the responsibility
for winning.

fewer demands

less pressure
about losing

A member of
a team

coach each other
provide emotional support

(@]
T
o
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[
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ac
=3
o

Outlining

Body
» Paragraph 1
Topic Sentence
: Team members can motivate each other.
Supporting Details
- other team members can help when someone is playing badly
- turn to each other if someone is having trouble
- coach each other and provide emotional support
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« Paragraph 2
Topic Sentence
: There is less pressure.
Supporting Details
- less demand on individual
- if the team loses, it is the fault of the team

Conclusion
Restatement
: The support of my team members can help me to perform at my best. In addition,
there is less pressure on me to perform perfectly.

Writing an Essay

[ Sample Essay ]

Although there are advantages to both individual and team sports, there are many reasons to
prefer being a team member. Athletes on a team can help each other perform better and share
the responsibility for winning among many people.

It is better to play team sports than to compete individually. For one thing, team members can
motivate each other. If someone is playing badly or is not feeling confident, the other members of
the team can help him. Team athletes have a big group of people to turn to if they’re having
trouble. Team members can coach each other and give each other emotional support. It seems
clear to say that this would make stressful games or competitions much easier to deal with.

Another reason it is preferable to play a team sport is that there is less pressure on each
individual athlete. Because everyone in the group is responsible for the team’s performance, there is
less demand on each individual. If one team member is not playing his or her best during a particular
game, the rest of the team can try a little bit harder to make up for their friend’s poor performance. If
the team loses, it is usually not the fault of just one member, but rather of the entire team. That
means that losing is less stressful, because everyone is to blame, not just one person.

In conclusion, my preference is to compete on a team instead of individually. The support and
friendship of my team members can help me to perform at my best. Because responsibility for
winning is spread among a big group, there is less pressure on me to perform perfectly. If my

team loses, | do not have to worry that it was all my fault.

[ Sample sliA1 ]
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Confusing Words

1. by (ol=Azi7ixiel 52 Metol si7F) *until S Astol 7l 2. career (n. 2 0[=)

3. weather (2. v, 27)) *climate n. 7% 4. culture (n. 251 2 = civilization)

5. collaboration (2. &=) *assistance(=help) 6. cure (v 4 Ax 52 0 22 Sopich) *heal v. QNS x[Z5ict
7. Modern (a. zl42) *current a. 374o| 8. custom (7. &, #&) *habit 7. o010 &3 b=

9. damage (n. 4 *hurt n Zus Ax 05 10. increase (v- z7tsict) “expand v. 51| 9] S Sisic

Grammar for Writing

1. (B) 2. (A) 3. (A) 4. (B)
5. (A) 6. (A) 7.(B)
Get It Write

1. I prefer to spend my free time

2. Itis better to

3. It seems clear to me

4. My preference is to drive

5. There are many reasons why | prefer

6. is preferable to eating

7. 1 would rather

8. | think it is better to go to an art museum than (to) a shopping mall.

9. | prefer to live in a small apartment near campus rather than to live in the university dorm.

10. My preference is to work at home instead of going to an office every day.

11. It seems clear to me that listening to classical music makes children more relaxed than listening
to popular music.

12. There are many reasons why | prefer traveling with a group to traveling alone.

13. Cooking your own food at home is preferable to ordering from a fast-food restaurant.

14. 1 would rather share the kitchen with my roommate.

P139

Brainstorming

e.g. painting, moving

more professional

better than I do

e.g. hire professional
painters

finish more quickly

Hiring people

more convenient
more free time

different tools
and supplies
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Outlining

Introduction
My preference is to have someone do housework because it is more convenient and also,
others do a better job than | would.

Body
« Paragraph 1

Hiring someone to do housework is more convenient.

- makes life easier and have more free time to do other things

- don’t have to worry about having tools and supplies for housework

« Paragraph 2
Someone who does a certain task every day will be better at it than | am.
- more professional
- more efficient
e.g. painting , moving

Conclusion
Hiring people to take care of housework is preferable to doing it myself for reasons of
convenience and because others will do a better job of it than I will.

[ Sample Essay ]

Some people prefer to have their housework done by hired help while others prefer to do it
themselves. My preference is to have someone else do my housework because it is more
convenient for me, and others do a better job than | would.

It seems clear to me that hiring someone to do my housework is more convenient than doing
it myself. One reason is that housework takes too much time. Having someone else take care of
the cleaning and other tasks makes my life easier. It means that | have more free time to do other
things. Also, housework requires many different tools and supplies. If someone else takes care of
the house, | don’t have to worry about having all these different items.

Another reason | would rather have other people do my housework is because it is better to
leave certain jobs to professionals. Someone who does a certain task every day, like painting or
moving, will be better at it than | am. He will be able to complete the job more efficiently. For
example, when my parents decided to repaint our house, they hired some professional painters
to do it. The painters were able to finish the job much more quickly than we would have done.
Also, because they were experts, the quality of their work was very high.

There are a lot of different jobs that need to be done around the house. Properly maintaining a
home is time-consuming and difficult for me to do alone. Hiring people to take care of the work
around the house is preferable to doing it myself because it is more convenient. In addition,
others will do a better job of it than | will.
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Chapter

"/ Giving an Opinion
P2

Thesis Statement
1.(0)

B 1.

2.(A) 3. (A)

Music, as it relies on sounds to communicate on a level below language, can be considered a

universal language.

2. Being able to openly communicate with one another makes it easier to address problems and
challenges in a relationship.

3. The personal and professional benefits resulting from the acquisition of a foreign language make
it a practical necessity.

4. The abundant news about celebrities in the mass media has definitely influenced fashions and
behavior patterns.

5. A love of reading given to children at an early age will be of great benefit throughout their lives.

6. Being passionate about being an educator is the single most important trait a teacher can have.

7. As well as helping children develop, music and arts programs assist children in learning skills
required for academic development.

Topic Sentence

=
I
>

2 (C), 2. A2 (A), T4 (A) - (B) - (C) - (D)

3. &A= (B), Hef+4: (B)-(C)-
E] 1. ¥ Influences on children’s creativity
Topic sentence: Creativity in children is influenced by the kind of education they receive, as well
as their family and social environment.
2. i To be a better leader
Topic sentence: Improving one’s interpersonal skills is one of the best ways to learn how to be a
better leader.
3. ¥ Success in sports
Topic sentence: The success of a sports team is the result of good coaching and teamwork.
4. ¥ How to teach young children
Topic sentence: Since young children learn faster when all of their senses are engaged, using
good teaching tools is the best way to teach them.
5. V| Causes of criminal behavior
Topic sentence: The root of criminal behavior lies in the home and family structure of children, in
addition to many other causes.
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riting ractice A

Brainstorming

stop disease
spreading

help healthy people

help suffering people
provide care

Outlining

Introduction
Main Opinion
: | would choose a charity which deals with AIDS.
Thesis Statement
: | can help people with AIDS as well as those who are not infected by donating
money to a charity dealing with AIDS.

Body
« Paragraph 1

Topic sentence

: It is our responsibility to help these people and ease their suffering.
Supporting details

- supply medicine

- get the care they need

« Paragraph 2
Topic sentence
: AIDS charities work to prevent the spread of the disease.
Supporting details
- stop the spread of the disease
- help healthy people avoid infection

Conclusion
Restatement
: It would be most effective to give money to an AIDS charity because | could help both
the sick and the healthy.

Writing an Essay
[ Sample Essay ]

If I could choose one charity to give money to, | would choose a charity dealing with AIDS. In
my opinion, AIDS is one of the most serious problems that the world faces. By donating money to
a charity dealing with AIDS, | could help people with AIDS as well as those who are not infected.

First of all, people with AIDS need a lot of help. AIDS is not a disease that kills quickly; people
can live for many years with the disease. | feel that it is our responsibility to help these people and
ease their suffering as much as possible. By donating money to an AIDS charity, | could help
make sure that people with AIDS get the medicine they need. In addition, | could help make sure
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they got the care they need later when the disease progresses and they are really sick. It is my
belief that providing this kind of help would be a truly worthy act.

Next, AIDS charities also work to prevent the spread of the disease, so they help people who
do not have the disease as well as those who are sick. Each year, thousands of people become
infected with AIDS, and the disease spreads to new areas. By giving money to an AIDS charity, |
could help stop the spread of AIDS and help ensure that healthy people do not become infected.

In conclusion, | think that if | could give money to a charity, it would be most effective to give it
to an AIDS charity because | could help both the sick and the healthy.

[ Sample sliA1 ]
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Confusing Words
1. blow up (v =2 A7[ci=explode) *blow over v. x|} 2. alittle (a. oizio)-28 =7)) *afew a opzio2
3. at last (ad. 0jzlf) *atleast ad. z45t 4, earn (v.olo/2 ¢irt =2 =i}
5. goal (n.=2%) *destination n. 2xix| 6. grow (v. msict) *bring up v. 7|90t J12x|ck

7.rent (v. z 51 5SS Utisic) *hire v EeS 1850 212 Lol 8, imitate (v 2esic))
9. industrial (a Ai¢ix0)  “industrious a. x5t 10. lane (n. =29| x}4)

Grammar for Writing
1. | believe that students should wear a uniform to school. There are several good reasons for
uniforms. Firstly, X students don’t have to waste x_time in the morning, trying to choose an
outfit for the day. They don’t have to worry that they will be judged on the shoes or the clothes
they are wearing. Next, a student wearing a uniform will be on his best behavior. When he
wears a uniform, everyone knows that he is a representative of a particular school.

dls| U shS0] stof wEs 91 Qof St AZeitt s AZ0= 0] 7iX| £2 Olw7t Uch A
2, M2 ool I S RE UHGH| ffol AlMS SHISHA| ot Ent Zget Ao|L M= ufiEof EIt
2= 0] tisll AEsHx| ot= ot O t5e2, uss YR M2 VMY E2 4ss ol Eth u=s Ys
0 MZS2 1 SHlo] S8t ol StuE tEsitE AS ot

2. If I could play any musical instrument in the world, I’d choose the violin. Being able to play an
instrument would bring joy not only to me, but also to all the people who hear me play.

Scripts & Answer Key A49

8 1dvd

/O HO



| especially like x_violin music because it has a soothing sound. Its music creates an
atmosphere of serenity. Playing the violin is more difficult than people imagine. A student
requires hours of instruction from an experienced teacher. Even so, one day I'd like to pick up a
violin and see if | have the talent necessary to become a great player.

2rof LH7H Mol o A7IE THE & DIl E0HE, Hol2els MdEE AT}, oA7|E g - UATE A
2 LIED ofuet U SR8 EE 2= M0 £7188 MARITL U S5l Hiol28 25E Sotehet a2
HOIZ 2ol TFAIZIE =8t tig WE0|ct Hi0|2E A2 XES B9I7IE US0 Ht HOISY S Al
S0| dziste A0 o ofF@ch s3E NUHeRRH 4~ A7t X|=5 2otof Sttt HIE 2Z71 otAl2h o
7h= HIOIZEIE S1 WoF RS AL e BRE MSS 7ML A=K 2elsta Ay,

Get It Write

1. | personally believe

2. | feel

3. | doubt that

4. | think that online sales are a good way

5. In my view / In my opinion

6. From my point of view

7. It is my belief

8. | feel that eating local foods is the best way to get to know a country.

9. | personally believe that the mass media influence people’s opinions about current issues.
10. 1 think that people with disabilities need specialized education programs.

11. | doubt that a no-smoking policy in schools will stop students from smoking.

12. In my opinion, offering scholarships is the best way to give poor students quality education.
13. From my point of view, getting enough sleep leads to better mental and physical health.
14. It is my belief that television advertising is the most effective way of promoting a product.

P153

Brainstorming

different belief system

look at them from
outside

all in one location
less time to see
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Outlining

Introduction

Egypt’s history has always fascinated me, and it would be possible to see the Pyramids in one
day.

Body
« Paragraph 1

Egypt’s history is interesting.
- greatest civilization
e.g. one of the 1st writing systems, Pyramids
- interesting religion with different belief system

» Paragraph 2

It would be possible to experience the Pyramids in one day.
- all in one location
- look at them from the outside

Conclusion

Egyptian culture is interesting, and | think it would be possible for me to see the Pyramids in
one day.

[ Sample Essay ]

| would choose Egypt because its history has always fascinated me and because | think it would
be possible to see the Pyramids in one day.

civilizations of the ancient world. The Egyptians developed one of the first writing systems, and
they were one of the first cultures to build anything as large as the Pyramids. In addition, | feel
that their religion was also quite interesting because their beliefs were so different from ours.

| think we can learn a lot by studying cultures with very different belief systems.

fully experience them in one day. If | went to a famous city like Paris or Rome, | doubt that | could
see everything | wanted to see in one day. The Pyramids, however, are all in one location so it
takes a lot less time to see them. In addition, as far as | know, you are not able to actually go
inside the Pyramids. In other words, you can only look at them from the outside, and how long
can that possibly take?

would be a perfect choice. | find Egyptian culture very interesting and | think it would be possible
for me to see them in one day.

If I could go anywhere in the world for one day, | would go to Egypt to see the Pyramids.

| personally believe that Egypt’s history is extremely interesting. Egypt was one of the greatest

Another reason why | would choose to visit the Pyramids is that | think it would be possible to

In conclusion, | think that if | only had one day to visit a place, visiting the Pyramids in Egypt

[ Sample sHiAd ]

2roF MiA ofi2te WIF Adsks ol ol S¢ 2 4 UTHH L= m2I0jES 22 0[FEo Z Xolct 01
E9l A= 5 UE U=AZL, T2I0|Es 51R0f T 2 4 AT M2ish| thzo] O[HES MEiE Ao|ch

NelHez o|FES] At 24 S0l§0in Y O|FHEE 1th MAIA 71 SITHIE! 28 & sfLfolct,
ase Ax9 2XAA & SlUE LA, T2i0EE 2 A2 US +~ UAs FZY 235 7L AlCt 22
of MgkE 27| ol 280 SuUt A S0IEt $2eit U 27t ofF TE A HMAS 7HE =at
£ AFYeEM B2 AS HiE 4 AT dAsitt

mj2iolE YES MEichs E OE 01fs IXSS ofF 3¢ o 388 + AUS W02k M2str| jiZo|ct 2
of L7t mhalut 20p 2= RER EAIS T W B HE RE A2 §IF Ul & 4 UASK| oA 2
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Chapter

8 Compare/ Contrast

CRA| Zall, BrofMBH 2 4= ATk AQlH 2 oLt AjZHol HelZ=71

kill “uild " p EAH]

Thesis Statement

B

1. (B) 2. (A 3.(C)

1. While non-fiction books are important, fictional books can have much more value to readers on a
personal and emotional level.

2. While stability and security are attractive, starting your own business is much more rewarding on
a personal and professional level.

3. For students, the chance to live and study abroad while surrounded by a foreign culture is a
chance not to be missed, as the benefits can be considerable.

4. The creation and construction of wildlife protected areas and national parks are of real assistance
to surrounding communities, who only stand to gain.

5. While environmentally aware businesses are sometimes merely seeking good publicity, they are
often also seeking to reduce pollution.

6. Participation in a youth mentorship program can be a very worthwhile experience for any student
as the knowledge and experience gained is often invaluable.

7. Involvement in non-governmental organizations educates youth in how to become more socially
responsible citizens.

Topic Sentence

1. =& (D), ST (D)-(B)-(A)-(C)
2. =H2: (B), T2 (B)-(A)-(C)- (D)
3. FH2 (C), HHTE (C)-(A)-(B)- (D

1. ¥ Advantages of hiring tutors
Topic sentence: Hiring tutors to help children with their studies has many advantages.
2. ™ Living in a serviced residence
Topic sentence: Living in a serviced residence is preferable because household services are
provided in the building.
3. ™ Work on something new every day
Topic sentence: Working on something new every day offers exciting and fulfilling opportunities
for growth.
4. ™ Working in an artistic field
Topic sentence: Although careers in other fields may have benefits, a career in the arts can be
very valuable and exciting.
5. ¥ Benefits of home schooling
Topic sentence: Home schooling is a good option for both children and their parents from an
educational standpoint.
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Brainstorming

disadvantages

need to be walked

independent affectionate

show appreciation

wash themselves
rub your legs

Outlining

Introduction
Main Opinion
: | prefer cats as a pet.
Thesis Statement
: Cats require less care than dogs, and they are just as loving as dogs.

Body
» Paragraph 1

Topic Sentence

: Cats are independent.
Supporting Details

- wash themselves

- go outside alone and come back

« Paragraph 2
Topic Sentence
: Cats are affectionate animals.
Supporting Details
- show their appreciation while feeding
- sit on your lap while you are watching TV
- enjoy playing games with a feather

Conclusion
Restatement
: Even though dogs have some nice qualities, | would prefer to have a cat because
they do not need constant attention. In addition, cats are affectionate animal.
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Writing an Essay
[ Sample Essay ]

from their owners, the way dogs do. Cats wash

appreciation. If you are sitting down and reading
your lap. It might start purring, which means it is

Although it may be true that dogs have some
They do not need as much care as dogs, so you
taking them for walks every day. Cats like spend
having some fun playing with you.

Some people think that dogs make better pets than cats, but | disagree. If | were to get a pet, |
would choose a cat. Cats require less care than dogs, and they are just as loving as dogs.
Compared to dogs, cats are very independent. They do not need constant care or attention

themselves, so you do not have to worry about

giving them baths like you would with dogs. Also, cats like to go outside on their own, so you do
not have to worry about taking them for walks all the time. Dogs need to go outside at least once
every day, even if it is rainy or cold. However, since cats do not need you to go with them, you
can just let them outside and they will come home when they are ready.

Many people think that cats are less affectionate than dogs, but this is not true. When you are
feeding a cat, it will come up to you and rub itself against your legs. This is a cat’s way of showing

a book or watching TV, a cat will come and sit on
happy. Also, cats enjoy playing games. If you get

a piece of string or a feather, you and your cat can have lots of fun playing silly games.

good qualities, | think cats make better pets.
do not have to worry about washing them or
ing time with people, either quietly relaxing or

[ Sample sliA1 ]

ofH AIZFE2 JH7F TY0|LL} LI2 OHFSE0(2tn MZ6kR(PH L= BICHStTt Bref Lot ofts =S 7120
DU0IE MENS J0|oh 1Y0l= 2L BEATES E IR StHAM JUE AI—ARCH
JHet HlwshA nUol= O SEA0|CH 1U0l= HEXME FLUICERH ZAUG= BT s He=
StA| 4=Ch 1Yoz =Xt M7| W0l JHEHE siFs AWM S2AHE HEE otk Pote Eoth Eot nUol=
SXt 8ol Li7k= As Z0teby| 2ol &y AN IE Ae AdY "ok Gt Jie 7t Welg €0l & Y
ofcy & ol Liztof Stct a2iLt nefol= FAI0f el 71EX| 2ot =7| m20] 2 Bhofl LEE 0 10|
S &7t = Foil Sok=C
2 AR}SO0| I0|7F ZHECE o w7t GiCtn MZISEK|ZE Ol= AM&O] OFLICE to[of#| HOIE & H IS
2 TR galol Chz|of XAl =& HItHH Z0|CH 0l= 107t ZAE Hoiste LAI0|CH GI0] ot MS
S7LE TVE E1 Qo™ TYo|7t ot Aol 25 2lof o2 Aot 7IE2gH2le A28 E »= =t 0l
A=siCh= ojojo|ct, Eot TY0l= AIYS Zotettt 40| 2[20[Lt AES Bt 7EX|T AUCHH 1olet 8| tf
&%t 0|5 oM EH2 AlZtS B & Qo
HIZ 7Hoi7 22 E40]| U= A2 AROIXIZH T07t Oi2SE2= O WO M5 1Yol= P
2 S=50| Lot 27| 20| NiFALE 0iY A Al7[= Lol Chalf AF MX| Lot Eoh 1ol= ASat
A7t BUle AS Z016t 1R3| §AIS FotHL Ghlunt E42 AU st= Az Z0L6HT
P63
Confusing Words
1. borrow (v 2elc) *lend v. 2o
2. atmosphere (n. S5 &40l 297)) *mood n. mlo| £917| AUNEl |2
3. achieve (v 24sich) “obtain v. 2ict 4. opportunity (. 713))
5. overdue (a. 7[st0| x|) *expire v. 87[7} =} 6. remember (v. 7|2l *remind v. A7[A7|ct
7. rewards (n. £+ £4) *award n. A(=prize) 8. shade (7. 25, 22) *shadow n. 22l S
9. talented (. 5o/ 10. packaging (n. z3e)7| 42 =xgl) “wrapping n. 2%
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Grammar for Writing

In most places, butterflies only appear during the warm months of spring and summer, but in
countries with warm climates, they can be found all year long. A butterfly ‘ s life cycle is very
interesting : it starts off as a caterpillar, then wraps itself in a cocoon, and a short while later ,
emerges as a brightly colored, beautiful butterfly. Generally , butterflies have very short lives -
most live for about 3 - 4 months, but others might live for as little as 2 - 14 days. Butterflies drink
nectar from flowers ; their specially designed tongues are like long, thin drinking straws. There
are about 24,000 different kinds of butterflies. Butterflies are found everywhere in the world except

for Antarctica .

HEE XF0lM Lidls 21 489 mWseet 2 2 ST LIEL=0 2315t 7|25 71 LigtoMde o & U
L H0|7|= Bich Lib[e] LME 1R SOIEL K522 AASt & TX2 52 MOt 12|10 Hot Fof #H2 Aol
OFSCHR LIHIZt =0 LIEPHT, YUMo Z LiHl= 0% B2 M A=l R R 34718 F=0lct, 2ZX|et 2-14
Y M A= LHIEE QUCH Utle 2922H B2 0HICE 159 85| U0 sl 21 7te ot 2t
©F 24,0005 CHUSH LH|7H EXetct L= E= thiES MQlet MA ti2&9 X0l Y=}

Get It Write

. Compared to general massage techniques

. In spite of the known medical benefits / Despite the known medical benefits
. In spite of the risk / Despite the risk

. Although it may be true

[N

. Even though electronic voting machines are expensive

. In contrast

. On the other hand

. Despite advances in science, scientists still do not know everything about the human body.
. Compared to hailstorms, hurricanes are more dangerous and destructive.

10. In spite of global warming, people continue to release greenhouse gases.

© 00 N O O~ WODN

11. Even though some painkillers may have serious side effects, people keep taking them.

12. Although it may be true that machines make production more efficient, they cannot replace all
workers.

13. Pets are good companions to humans. However, they can cause allergies or other health
problems.

14. Urban areas have easy access to public transportation. In contrast, some rural areas hardly have
any public transportation.

P167

Brainstorming

short line for paying

full attention

nicer service
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Outlining

Introduction

Smaller shops offer a more pleasant, relaxing way to shop, and provide better service.
Body
« Paragraph 1

It is more enjoyable and less stressful to shop at a small store.
- less crowded, does not take long to pay

- hypermart — crowded, hard to get around store, pushing carts, long line-ups
« Paragraph 2
| get better service from the clerk in a small shop.

- more polite and helpful, gives me full attention
- big stores — hard to find clerks

Conclusion

Small stores provide a better shopping experience and give me personal attention.

[ Sample Essay ]

Although shopping at one large store might be convenient, | like to do my shopping at smaller
shops. | find it to be a more pleasant and relaxing way to shop, and also, | get better service.

It is more enjoyable and less stressful to shop at a small store. For example, no matter when |
go to the hypermart, it is always crowded. It is hard to get around the store because there are so
many people pushing carts through the aisles. | often have to wait for someone to move away
from a display before | can get what | want. Because there are so many people, there is always a
long line at the cash registers. | usually have to wait at least ten minutes before it is my turn to
pay. In contrast, smaller shops are less crowded, so | can easily get what | need. Usually there is
no line, so paying for my items does not take long.

Another reason | prefer smaller shops is that | usually receive better service from the store
clerks. The people working there often own the store, so it is in their best interest to treat
customers well. They are usually more polite and helpful than the clerks in big hypemarts. Also,
they do not have as many customers to help, so they can give me their full attention for as long
as | need it. Although it may be true that big stores have more staff, it is hard to find a clerk when
you need one. If you do find someone, you usually have to wait a long time for the clerk to help
you.

Compared to big stores, smaller stores are much better for shopping. The calm atmosphere of
a small store provides a better shopping experience. In addition, | enjoy the personal attention |
receive from the shopkeepers who work in small shops.

[ Sample sliA1 ]

HIE 2 7HA0IA A%et= 20| Halgh 4 UXIPE L= &2 JPioAN LA%et= e Zofstct L A= Il
M Ash= 0] O 7[20] £11 HotH O L2 MHIAE Bke & QICtn MZIGHCt

2 JHAA 2712 Ake 20| o 241 AEY AL Hitt, oS £04, thY ol Z mjoict 21X 5 28
Ch 42 2 MES0| 822 7IEE Ui ChL7| 20l T QL2 SOICH 7| MLt L7t flote Ag 2 71
eliMde= BE CHE AIZ0| G0 A0lIM H[AHFIIE 7ICk2{0F ot7|= BiCh ARIS0| U BL7| mi2o] AMoiol=
= Z0| 27| SO{MQICE L7t AArE: x27F 2 oi7kx] i) o= 1022 7|ct2fot Bttt tixdMoz X2 IS
2 2 SHM L7F 2Rttt A2 e B2 4+ Utk B & QoM WL A S e XIEsk=Hl AlZtol 22 Ze|
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Progressive Test (1)

CEI P.170

[ Sample Essay ]

| realize that it is important for people to get exercise, and | personally enjoy playing sports.
However, | disagree with the statement that all students should be required to take physical
education classes, because not all students like to play sports, and there is the possibility of injury
in a physical education class.

Not all students enjoy playing sports, and not all students are good at sports, and for those
who are not good at sports, physical education classes can be embarrassing and uncomfortable.
Students are not always very kind to each other, and they often tease other students who are not
good at something. When | was in school, the kids who were not good at sports were often
teased during our physical education classes. As a result, the class was a terrible experience for
them. | totally oppose the idea that students who are not good at sports should have to take a
class in which they will be teased and embarrassed.

In addition, students should not have to take a class where there is a risk of injury if they don’t

want to. Any time you play sports, there is the possibility you could get hurt. If you choose to play ;:E
sports then that is your choice, but schools should not force students to take a class in which &
they may get hurt if those students do not wish to.

In summary, | am not in favor of requiring students to take physical education classes because 2
some students may be teased by others for their lack of athletic ability, and other students may 8
not want to risk being injured in the class. I:

o
a5
[ Sample lAd ] ]
L= AjRtS0| 25k 200] ER8iths 22 oIt 12m Jfeioe 2Ssts 2 5700 28 U 2E 5
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P.172

[ Sample Essay |

| think that most people probably eat 3 large meals a day. Personally, however, | prefer to eat a
larger number of smaller meals because | think it is better for one’s health and because it better
suits my lifestyle.

| have read that most doctors say that eating a number of small meals during the day is
actually healthier for a person than eating three large meals each day. My own personal
experience seems to support this. When | eat 3 large meals in a day, | often feel tired after each
meal because | have eaten too much at one time. Then, later in the day, | feel a bit tired because
| am getting hungry but it is not time to eat again yet. If | have a higher number of smaller meals,
| avoid both problems; | do not feel tired from overeating, and | do not get hungry waiting for the
next meal time.

In addition, eating more small meals suits my lifestyle much better than eating three meals in a
day. | am a fairly active person. | work out each day, and | walk or ride a bike to most places | go.
As aresult, | burn a lot of energy each day. | need to eat often to replace that energy, so eating
lots of small meals is better for me.

In conclusion, | prefer to eat a higher number of small meals because | believe it is healthier for
a person and because it suits my lifestyle better than eating 3 large meals.

[ Sample 5l ]
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Actual Test (1)

P78
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Well ... you're probably familiar with genetically modified foods, foods that have been
artificially altered in some manner to enhance or remove a specific characteristic. This is a pretty
bad idea, and there are a couple of reasons why.

First of all, genetically modifying food is an unnatural process. This is because it’s fairly new.
We haven’t had time to fully understand the long-term health effects of eating these foods. For
example, soy beans in Britain were modified to be herbicide resistant. Umm ... however,
researchers found that these same beans also caused a fifty per cent increase in soy allergies.

Secondly, genetically modified foods don’t really address the problem of world hunger. In
theory, stronger, more healthful crops from enhanced seeds could benefit people in poor
countries. However, the companies creating these seeds have to make a profit. So, of course
they’re more motivated to sell to rich countries. Developing countries that have trouble feeding
their populations most likely can’t afford these seeds.

Finally, breeding plants uh, that are resistant to pesticides has the undesired effect of boosting
the immunity of the very insects they’re meant to eliminate. Pesticides aren’t completely
effective, and some insects survive. The genetic trait that allowed them to survive is passed on to
their offspring, who will also be resistant to the pesticide. Stronger, more toxic pesticides will be
required, and this can cause ecological and health problems.

X, (22 80 g2 et 22 mMAANZZ| ffof lEHe Hyet AFQ RURt HE MF0| sl &1
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[ Sample Response ]

In the lecture, the professor talks about how genetically modified foods are not as beneficial as
the reading claims. The professor disputes the three main points made in the reading.

First of all, she says that genetically modifying foods does not make them any healthier, and
sometimes even has the opposite effect. She mentions that modified soy beans in Britain were
actually responsible for a significant increase in soy allergies. According to the professor, we do
not really know much about the long-term health benefits of modified foods.

Furthermore, the professor claims that genetically engineered foods will not help the world’s
hungry, because farmers in poor nations will not be able to afford the special seeds. She admits
that in theory, the poor could benefit from more healthful crops, but says the companies that
make the seeds are motivated by profit and are more interested in selling their products to rich
countries than to poor ones.

Lastly, she argues against the reading’s claim that genetically modified foods will eliminate the
need for harmful pesticides. The reading claims that insects and pests will die if they can’t eat the
crops. But the professor points out that this will not happen. She says the pests will adapt to the
new seeds and get stronger, so pesticides will still be necessary.

[ Sample Response &A1 ]
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[ Sample Essay ]

Some people believe that car owners should pay for environmental damage caused by their
cars. | agree with this because many people are too dependent on cars and use them even if
there are other methods of transportation available. Also, since drivers are the ones causing the

AB0 www.linguaforum.com



pollution, it is their responsibility to pay for cleaning it up.

If you own a car, you are probably in the habit of using it all the time, even if you could get to
your destination just as quickly by walking or taking the bus. A lot of people feel that since they
have a car, they should not have to walk anywhere. For example, my cousin lives very close to a
shopping mall. Even though it would only take him ten minutes to walk there, he always drives
his car because it is easier than walking. Even if traffic is bad or he has to drive around the parking
lot several times to find a parking spot, he prefers driving to walking. If drivers had to pay an
environmental tax, they might think twice about driving their cars to places they could easily walk.

Another reason that car owners should pay for cleaning up the environment is that they are
the ones creating so much air pollution. If they can afford to drive a car, then they should be
willing to pay extra to fix the problems their cars cause. If they do not want to pay an
environmental tax, they can choose to drive less or use alternative methods of transportation.

People who drive should take responsibility for the air pollution created by their cars. An
environmental tax might encourage people to walk or take the bus more often. Drivers should pay

to fix the problems they are causing.

[ Sample Essay afi4] ]
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When people talk about the advantages of computers, they sometimes forget that computers
have disadvantages too. A good example of this is the use of computers in the workplace.

People often point out that computers have allowed people to work more quickly and easily.
Sure, people can do their work more quickly, but they are also expected to do more work than
people were before the invention of computers. So, being able to work faster does not really
make an employee’s job easier because that employee is just asked to do more work.

People also often note how useful computers are for keeping records in the workplace. Again,
while it is true that using computers to keep records eliminates the need for lots of space to store
records, it also creates new problems. Files on a computer can easily be destroyed if the
computer gets a virus. In fact, in some cases, companies have been known to lose all of their
records when something goes wrong with their computers. In many ways, records are less safe
when they are stored on a computer.

Finally, while companies may be able to hire fewer people because of computers, they have to
hire more highly trained people to run and operate those computers. In general, those highly trained
people receive much higher salaries, so companies do not really save that much on labor costs.
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[ Sample Response ]

The professor’s main point in the lecture is that computers are not quite as beneficial in the
workplace as the reading claims. The professor challenges the claims made in the reading on
three specific points.

First, the professor points out that computers have not really made people’s jobs any easier.
While he admits that computers allow employees to work faster, as claimed in the reading, he
also says that employees are now expected to do more work because they are able to work
faster. This challenges the reading’s claim that computers have made work easier.

In addition, the professor also questions the reading’s claim that computers have improved
record keeping. Again, he admits that computers have eliminated the need for large file rooms,
but he also points out that records are easily lost or destroyed when a computer gets a virus.
According to the professor, records are actually less safe when stored on a computer.

Finally, the professor points out that while computers allow companies to hire fewer people,
companies now have to hire more highly trained people who generally make more money. This
challenges the reading’s claim that computers allow a company to save money on employee
salaries.

[ Sample Response &A1 ]
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[Sample Essay ]

Although credit cards have certain advantages, | think it is better to use cash whenever
possible. For one thing, it is easier to keep track of your money if you pay for things with cash.
Also, using cash will make you think twice about spending money on things you do not need.

It would probably be better for young adults to avoid the habit of paying for things using a
credit card. If you only use cash, you always know how much money you have available to spend.
With a credit card, it is harder to keep track because you do not have to pay any money right
away. You might purchase many expensive things using your credit card, and then not have
enough money to pay for them all. If you pay for everything using cash, you will have a better idea
of how much money you have left. If you start running out of money, you will know you should
stop buying things.
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A4 ]

Another reason using cash is preferable to using credit cards is because using cash makes you
O

think more carefully about buying things. For example, if you see something you like but do not

really need, you might buy it anyway because using a credit card is so easy. If you had to pay
It seems clear that using cash is better than using credit cards. Credit cards encourage
careless spending habits. People might spend more money than they actually have. Using cash

ensures that people will spend their money more responsibly.

than you can afford, you can buy it with your credit card. This means that all the money you get in

cash for the item, you might think twice about buying it. If you want something that costs more
the future will have to be used to pay your credit card bill.
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Workbook

Useful Structures for Writing

1.

a) Hibernating animals look as if they are dead.
b) His essay looked as if it was written by somebody else.

. a) If we take this medicine for granted, we might overuse it.

b) My professor took it for granted that | already submitted my final paper.

. a) They are good at spoken English, to say nothing of written English.

b) The typhoon was really scary, to say nothing of all the damage it caused.

. a) There is no denying that prices of books have risen considerably.

b) There is no complaining about the way this school is being run.

. a) They cannot help admitting the exam results.

b) The students could not help yelling when the teacher announced the surprise test.

. @) The article pays attention to youth education issues.

b) The government finally began to pay attention to our concerns.

. @) A changed curriculum will give rise to a demand for standardization in education.

b) Her promotion gives rise to a new role model for professionals.

. a) In a sense, her critical nature is her self-protection.

b) In an ironic sense, failing several tests made me study harder.

1.

a) | have convinced myself that exercising does have an effect on one’s mood.
b) I have convinced myself that science could also be considered an art.

)
.a) As a rule, it would be good if you backed up your claims with credible proof.
)

b) As a rule, it would be good if traffic rules were followed by everyone.

. a) | am used to eating home-made meals; that’s why | stay away from fast food restaurants.

b) Foreigners may be confused because they are used to a certain lifestyle.

. @) The two players are very different; one is aggressive, the other is calculating.

b) They have different leadership styles; one is firm and steadfast, while the other is quiet and
forgiving.

. a) Some musicians are firm in their musical styles, while others are merely casual.

b) Some writers do responsible research; others just write from experience.

. a) No wonder books are selling less and less these days.

b) No wonder our trust has disappeared.

. a) The transfer student is most likely to return to his original school next year.

b) He is most likely to become our next president.

. @) No matter how long it takes, the city engineers will work hard to solve the problem of

overflowing water.
b) No matter how long it takes, the team will work on the corrections.
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ractice ¢ Xl

l.a
b

2.a
b

3.a
b

4.a
b

5.4
b
6.a
b

7.a
b

8.a
b

=

As | have pointed out, domestic tourism should be prioritized over foreign tourism.
As | have pointed out, losing or winning should not be your main concern.

= =

| don’t think that studying in a group is effective for mathematics.
| don’t think that copyright laws are strong enough to protect the artists.

= =

The prices of oil-based products keep rising.
You'd better keep going and see how it works out.

= =

In personal matters, the young should always listen to the elderly.
In environmental matters, people should think of both nature and society.

= =

He tends to rely on judgments made by other people.
Lazy people tend to rely heavily on fast food.

-

There is no doubt that students are dissatisfied with the current curriculum.
There is no doubt that the dean will oppose the construction of a new gym.

=

=

The longer the strike is, the more losses it will cause the company.
The heavier our running coach gets, the harder it gets for him to catch up with us.

= =

The atmosphere made me frightened rather than angry.
This reference book is more useful for students rather than general readers.

ractice - EXV)

1.a
b

2.a
b

-

Rl

It is needless to say that one’s education is the most valuable thing.
It is needless to say that it is difficult to keep up with new technology all the time.

= =

It is worth pointing out that air pollution can affect negatively the children’s skin.
It is worth pointing out that manual laborers get paid higher wages than executives in some
countries.

-

3. a) It seems that my younger brother is allergic to peanuts.
b) It seems that | need to update my data for the research project.

4. a) The Italians are known for their innovative designs and their love of food.
b) Bernard Shaw was known as a successful playwright and a famous public speaker.

5. a) When it comes to art, image is the most important factor.
b) When it comes to losing weight, diet and exercise have the same effect.

6. a) On the whole, he implied that what you were saying was true.
b) On the whole, | think computers have made life more complex.

7. a) This is because she has given up smoking.
b) This is because he had a bad experience in the past.

8. a) All things considered, games teach one about the role of cooperation in life.
b) All things considered, | prefer apartments to traditional houses.
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Useful Expressions for Writing

(-3 i(-B - Education & Career P.204

1. build a career 2. extracurricular activities
3. early education 4. foster one’s ability
5. peer group 6. formation of character
7. potential capability 8. trial and error
9. job performance 10. part-time work
11. temporary work 12. self-employment

. It is hard to build a career without a good education.

. Extracurricular activities are important in school.

. Early education prepares young children for success later in life.

. A good teacher can foster one’s ability in many aspects.

. Pressure from one’s peer group does much to affect one’s behavior.

. Formation of character depends on the example that parents set.

. Students with potential capability in science sometimes go to special schools.
. Some things cannot be taught, but instead are best learned by trial and error.
. Many things can affect job performance, such as health and home life.

10. Many people choose self-employment because they receive higher job satisfaction.
11. Part-time work lets students make money while going to school.

12. Temporary work usually does not pay very high wages.

- Living & Thinking .206

© 00 N O O~ WDN B

1. standard of living 2. residential area
3. household chores 4. relieve stress
5. community facilities 6. display leadership
7. invade one’s privacy 8. filial piety
9. social custom 10. a positive outlook
11. public welfare 12. stressed out

. Higher income usually means a higher standard of living.

. A residential area is used for housing rather than for business.

. Children should be given household chores to do.

. Some people listen to music to relieve stress.

. Community facilities in our town include a library and a sports center.
. The general displayed leadership skills from an early age.

. If one becomes famous, the media can invade one’s privacy.

. Out of filial piety, he majored in physics to make his parents happy.

. Giving gifts on certain holidays is a social custom.

10. People with a positive outlook accept their situations without complaining.
11. What is good for one person is not always good for public welfare.
12. The exam left her so stressed out that she ate too much.

© 00 N O O~ WN P
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- Travel & Entertainment p.208

. spare time 2. public transportation

. outdoor activities 4. kill time

. cultural heritage 6. preserve a tradition

. instinct for music 8. have an ear for music

. daily routine 10. broaden one’s horizons
11. cultural exchange 12. rate a film

© N O W

. My father goes sailing in his spare time.

. The subway is an example of public transportation.

. Outdoor activities like football are popular with children.

. One way to kill time is to chat in a coffee shop with friends.

. Korea’s cultural heritage includes great palaces and works of art.

. Craftsmen preserve the tradition of building homes from wood.

. An instinct for music leads people to sing or play instruments.

. People with an ear for music can remember songs easily.

. My life has settled into a daily routine and is boring.

10. Visiting another country can broaden one’s horizons through exposure to a foreign culture.
11. How many foreign musicians visit our country through cultural exchange programs?
12. The movie company rates its films according to type of audience.

© 00 N O O b WDN PP

(-(ai (o=l - Social Issues & Technology P.210

1. medical checkup 2. health care system
3. passive smoking 4. way of thinking
5. human nature 6. moral standard
7. make sense 8. get along with someone
9. alternative energy 10. censorship of the press
11. technological innovation 12. up-to-date

. It is a good idea to have an annual medical checkup.

. Hospitals are essential to health care systems.

. Passive smoking can be almost as dangerous as active smoking.

. To my way of thinking, this is a very poor plan.

. Human nature is different from that of other animals.

. Societies must have certain moral standards in order to survive.

. This plan makes sense because it is simple and costs little.

. Sometimes it is hard to get along with people who have different customs from ours.
. Wind power is an example of alternative energy.

10. Heavy censorship of the press is still practiced in some countries.

11. Technological innovation can change the world completely in 10 years or less.
12. The software on my computer is up-to-date after an upgrade.
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